' GROUP 3 ELECTRIC SYSTEM

ELECTRIC COMPONENTS MOUNTING 1

Start ‘relay

1

Work lamp

DETAIL B

ECM

DETAIL A

Fuel filler

pump Travel alarm buzzer

Battery

Horn
Washer tank
4507A9CM03
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M6x1.0 1.05+0.2 7.6+1.45 3 | M10x15 6.9+1.4 49.9+10.1
2 | M8x125 25+05 18.1+3.6 4 | M12x1.75 | 12.8+3.0 92.6+21.7

9-4




ELECTRIC COMPONENTS MOUNTING 2

-
Beacon lamp
3 =

VIEW A

Electric box

“— Prolix resistor

Fuse box CPU controller

Wiper motor cover

36079CM04
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
M6x1.0 1.05+0.2 7.6+1.45 3 M10x1.5 69+1.4 49.9+101
2 | M8x1.25 25+0.5 18.1+£3.6 - - -

9-5



